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The fuel consumption (mpg) of a vehicle varies
inversely with its weight. A car that weighs 𝟑𝟖𝟎𝟎
pounds gets 𝟐𝟓 mpg on the highway. Find the
fuel consumption of a car (in mpg), that weighs
𝟒𝟕𝟓𝟎 pounds.
किसी वाहन िी ईंधन खपत (mpg) उसिे वजन िे
व्यतु्क्रमानपुाती है। 𝟑𝟖𝟎𝟎 पाउंड वजन वाली िार
िी हाईवे पर खपत 𝟐𝟓 mpg है। उस िार िी
ईंधन खपत (mpg में) ज्ञात िीजजए, जजसिा वजन
𝟒𝟕𝟓𝟎 पाउंड है।
a) 𝟐𝟎 b) 𝟐𝟑. 𝟕𝟓
c) 𝟏𝟖 d) 𝟐𝟓
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In how many ways can the letters of the word
‘CAPITAL’ be arranged so that the vowels come
together always?
शब्द 'CAPITAL' िे अक्षरों िो कितने प्रिार से
व्यवजथित किया जा सिता है ताकि थवर हमेशा
एि साि आएं?
a) 𝟓𝟔𝟎 b) 𝟒𝟔𝟎
c) 𝟐𝟔𝟎 d) 𝟑𝟔𝟎
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The average age of a class of 𝟔 girls is 𝒙 years.
Four new girls having ages 𝒙 − 𝟐, 𝒙 + 𝟒, 𝒙 +
𝟖 and 𝒙 + 𝟏𝟎 joins the class. What is the new
average age of the class?
𝟔 लड़कियों िी एि िक्षा िी औसत आयु 𝒙 वर्ष
है। 𝒙 − 𝟐, 𝒙 + 𝟒, 𝒙 + 𝟖 और 𝒙 + 𝟏𝟎 आयु वाली
चार नई लड़कियााँ िक्षा में शाममल होती हैं । िक्षा
िी नई औसत आयु कितनी होगी?
a) 𝒙 − 𝟐 b) 𝒙 + 𝟐
c) 𝒙 + 𝟓 d) 𝒙 + 𝟏
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Three sets of data on comparable situations are
available as under. Considering all the data
together, the overall mean value would be
तुलनीय पररजथियों पर आंिड़ों िे तीन समहू
ननम्रानसुार उपलब्ध हैं, सभी आंिड़ो िे समहू िो
एि साि ध्यान में रखते हुए, समग्र मध्य मान
ज्ञात िीजजए|
a) 𝟕. 𝟐𝟒 b) 𝟕. 𝟔𝟔
c) 𝟖. 𝟎𝟖 d) 𝟖. 𝟓𝟎

Set 
No.

No. of 
data  

Mean 
value  

Standard 
Deviation 

1. 9 8 1.6

2. 12 7 1.2

3. 15 9 1.4
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Two vessel contain milk and water in
the ratio 𝟕: 𝟖 and 𝟏𝟑: 𝟓 . If both
vessel are mixed in ratio 𝟏 ∶ 𝟏, find
the ratio of milk and water in new
mixture?
दो बतषनों में दधू व पानी िा अनपुात
𝟕 ∶ 𝟖 और 𝟏𝟑 ∶ 𝟓 है। यदद दोनों बतषनों
िे ममश्रण िो 𝟏 ∶ 𝟏 िे अनपुात में
ममला ददया जाए तो नए ममश्रण में दधू
और पानी िा अनपुात ज्ञात िीजजए ।
a) 𝟏𝟎𝟓: 𝟓𝟗 b) 𝟏𝟎𝟑: 𝟕𝟕
c) 𝟏𝟏𝟏: 𝟔𝟗 d) 𝟏𝟎𝟕: 𝟕𝟑
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The median of the observations below,
given in ascending order, is 𝒏 − 𝟏
𝟒, 𝟖, 𝒏 − 𝟏𝟒, 𝟏𝟕, 𝒏 + 𝟓 𝟑𝟎, 𝟑𝟐 and 𝟑𝟓.
What is the value of 𝒏?
आरोही रम में नीचे ददए गए पे्रक्षणों िा
मध्यि 𝒏 − 𝟏 है|
𝟒, 𝟖, 𝒏 − 𝟏𝟒, 𝟏𝟕, 𝒏 + 𝟓 𝟑𝟎, 𝟑𝟐 और 𝟑𝟓.
𝒏 िा मान क्या है?
a) 𝟏𝟕 b) 𝟏𝟖
c) 𝟐𝟒 d) 𝟏𝟗
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Exports Imports The given bar-graph shows the exports
and imports (in crores of rupees) of
five companies in a particular financial
year. Based on the given information,
the ratio of exports to imports is
highest in company ______.
नीचे ददए गए प्रश्न िा उत्तर दीजजए।
ददया गया दंड - आलखे एि ववशरे्
ववत्तीय वर्ष में पांच िंपननयों िे ननयाषत
और आयात ( िरोड़ रुपये में) िो
दशाषता है। दी गई जानिारी िे आधार
पर, ननयाषत और आयात िा अनपुात
िंपनी सबसे अधधि है।
a) A b) D
c) B d) E
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𝒑 ∥ 𝒒 and l be the transversal.
∠𝟏 = 𝟔𝟎° then ∠𝟐 = ?
𝒑 ∥ 𝒒 तिा l एि नतयषि रेखा है|
∠𝟏 = 𝟔𝟎° है, तो ∠𝟐 = ?
a) 𝟔𝟎° b) 𝟏𝟏𝟖°
c) 𝟏𝟐𝟎° d) 𝟏𝟏𝟗°

1

2

l

q

p
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The length of a rectangular park is 22
m more than its breadth. Its area is
𝟏𝟒𝟎𝟎 𝒎𝟐. Its breadth (in m) is:
एि आयतािार पािष िी लम्बाई उसिी
चौड़ाई से 𝟐𝟐 मी अधधि है। इसिा
क्षेत्रफल 𝟏𝟒𝟎𝟎 मी𝟐 है। इसिी चौड़ाई
(मी में ) है :
a) 𝟑𝟓 b) 𝟐𝟏
c) 𝟐𝟖 d) 𝟒𝟐
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Study the following pie-chart carefully, which
shows a state government’s expenditure
(% allocation) on various sectors during the year
2019. If ₹𝟐𝟕 million were spent on transport in
𝟐𝟎𝟏𝟗, what would have been the total expenses
(in million) of the given state government in that
year considering mentioned sectors only?
ननम्नमलखखत वतृ्त आलेख िा ध्यानपवूषि अध्ययन
िीजजए, जो वर्ष 2019 िे दौरान ववमभन्न के्षत्रों पर
राज्य सरिार िे व्यय (% आवंटन) िो दशाषता है।
यदद 2019 में पररवहन पर ₹𝟐𝟕 मममलयन खचष
किए गए िे, तो िेवल उल्लेखखत के्षत्रों पर ववचार
िरते हुए उस वर्ष दी गई राज्य सरिार िा िुल
व्यय (मममलयन में) कितना रहा होगा?
a) 𝟏𝟔𝟎 b) 𝟏𝟒𝟎
c) 𝟏𝟓𝟎 d) 𝟏𝟑𝟎

25%
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30%

18%

12%

Irrigation

Health

Agriculture

Transport

Dairy
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The table given below shows the number of runs
scored and number of matches played by 𝟖
batsmen.
Batting average = Number of runs scored by a
batsman/Number of matches played by a
batsman
F = Sum of batting average of B8, B3, B6 and B1
G = Sum of batting average of B2, B4 and B7
what is the value of F – G?
नीचे दी गई तामलिा में 𝟖 बल्लेबाजों द्वारा बनाए गए रनों
िी संख्या और खेले गए मैचों िी संख्या िो दशाषया गया
है। बल्लेबाजी औसत = बल्लेबाज द्वारा बनाए गए रनों िी
संख्या / बल्लेबाज द्वारा खेले गए मैचों िी संख्या
F = B8, B3, B6 और B1 िी बल्लेबाजी िे औसत िा योगफल
G = B2, B4 और B7 िी बल्लेबाजी िे औसत िा योगफल
F - G िा मान कितना है?
a) 𝟑𝟏. 𝟗𝟑𝟕𝟓 b) 𝟑𝟖. 𝟗𝟑𝟕𝟓
c) 𝟑𝟔. 𝟒𝟑𝟕𝟓 d) 𝟑𝟑. 𝟗𝟑𝟕𝟓

Batsman Number of 
runs 

Number of 
matches 

B1 480 24

B2 720 12

B3 648 16

B4 730 10

B5 946 27

B6 1143 16

B7 1050 30

B8 980 14
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A cloth store is offering "Buy 3, get 1 free". What
is the net percentage discount being offered by
the store?
एि िपड़े िी दिुान ने 'तीन िी खरीद पर एि
मफु्त िा प्रथताव दे रखा है। दिुान द्वारा
प्रथताववत छूट िा प्रनतशत क्या है?
a) 𝟐𝟓% b) 𝟑𝟑

𝟏

𝟑

c) 𝟑𝟎% d) 𝟐𝟎%
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Ram can do 𝟓𝟎% of a work in 𝟐𝟒
days, Shyam can do 𝟏/𝟒th of the
work in 𝟑𝟔 day. In how many days
can they do 𝟏/𝟔th of the work
working together.
राम एि िायष िा 𝟓𝟎%, 𝟐𝟒 ददनों
में िर सिता है, श्याम 𝟏/𝟒 िायष
िो 𝟑𝟔 ददनों में िर सिता है। वे
एि साि िायष िरते हुए िायष िा
𝟏/𝟔 भाग कितने ददनों में िर
सिते हैं?
a) 𝟏𝟎 days b) 𝟔 days
c) 𝟖 days d) 𝟏𝟐 days
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∆𝑷𝑸𝑹 is right-angled at 𝑸. The
length of 𝑷𝑸 is 𝟓 cm and angle
∠𝑷𝑹𝑸 = 𝟑𝟎° . Determine the
length of side 𝑸𝑹.
∆PQR Q पर समिोण त्रत्रभजु है।
𝑷𝑸 िी लंबाई 5 सेमी और
𝑷𝑹𝑸 = 𝟑𝟎° है। भजुा 𝑸𝑹 िी
लंबाई ज्ञात िीजजए।
a) 𝟓 𝟑 cm b) 𝟑 𝟑 cm

c)
𝟏

𝟑
cm d)

𝟓

𝟑
cm
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If the cost of a mobile phone is ₹𝟐𝟓, 𝟎𝟎𝟎,
available at ₹𝟓, 𝟎𝟎𝟎 down payment followed by 𝟑
equal annual instalments (each instalment is to
be paid at the end of each year) at the rate 𝟐𝟓%
p.a. compound interest, then find the value of
each instalment (rounded off to two decimal
places):
यदद एि मोबाइल फोन िी िीमत ₹𝟐𝟓, 𝟎𝟎𝟎 है,
₹𝟓, 𝟎𝟎𝟎 िे तत्क्िाल भगुतान पर उपलब्ध है और
उसिे बाद 𝟐𝟓% प्रनत वर्ष चरवदृ्धध ब्याज िी दर
से 𝟑 समान वावर्षि किश्तें (प्रत्क्येि किथत िा
भगुतान प्रत्क्येि वर्ष िे अंत में किया जाना है) पर
उपलब्ध है, तो प्रत्क्येि किथत िा मलू्य ज्ञात
िीजजए (दशमलव दो थिानों ति पणूाांकित):
a) ₹ 𝟏𝟎, 𝟐𝟒𝟓. 𝟗𝟎 b) ₹ 𝟏𝟑, 𝟎𝟐𝟏
c) ₹ 𝟏𝟕, 𝟑𝟔𝟏 d) ₹ 𝟏𝟎, 𝟐𝟒𝟓. 𝟎𝟗
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𝟐 𝒄𝒐𝒔𝒆𝒄 𝟗𝟎 − 𝜽  𝒔𝒆𝒄𝜽 − 𝟐 𝒄𝒐𝒕 𝟗𝟎 −  𝜽  𝒕𝒂𝒏 𝜽 =
a) 𝟏 b) 𝟎
c) 𝟐 d) 𝟒
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A man travelled from A to B at a speed of
𝟏𝟎 m/sec, and returned to A from B at a speed of
𝒙 km/h. If his average speed is 𝟒𝟓 km/h, then
what is the value of 𝒙 ?
एि व्यजक्त A से B ति 10 मीटर / सेिंड िी गनत
से यात्रा िरता है, और 𝒙 किमी / घटंा िी गनत से
B से A ति वापस आ जाता है। यदद उसिी औसत
गनत 𝟒𝟓 किमी / घंटा है, तो 𝒙 िा मान क्या है?
a) 𝟓𝟒 b) 𝟓𝟎
c) 𝟓𝟔 d) 𝟔𝟎
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𝑨𝑩𝑪𝑫 is a quadrilateral. The length
of the diagonal 𝑨𝑪 is 𝟐𝟒 cm. The sum
of the perpendicular drawn from
vertex 𝑩 and 𝑫 on the diagonal 𝑨𝑪 is
𝟏𝟎 cm. What is the area of the
quadrilateral?
ABCD एि चतुभुषज है। वविणष 𝑨𝑪 िी
लंबाई 𝟐𝟒 सेमी है। शीर्ष B और D से
वविणष AC पर खींचे गए लंबों िा योग
𝟏𝟎 सेमी है। चतुभुषज िा के्षत्रफल
कितना है ?
a) 𝟐𝟒𝟎 𝒄𝒎𝟐 b) 𝟏𝟖𝟎 𝒄𝒎𝟐

c) 𝟏𝟐𝟎 𝒄𝒎𝟐 d) 𝟗𝟎 𝒄𝒎𝟐
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A sum of money lent at simple
interest amounts to Rs.
𝟗, 𝟗𝟐𝟎 after 𝟐 years and to Rs.
𝟏𝟐, 𝟖𝟎𝟎 after 𝟓 years. Find
the rate of interest per
annum.
साधारण ब्याज पर उधार दी
गई रामश 𝟐 वर्ष बाद 𝟗, 𝟗𝟐𝟎
रुपये और 𝟓 वर्ष बाद 𝟏𝟐, 𝟖𝟎𝟎
रुपये हो जाती है। तो वावर्षि
ब्याज दर ज्ञात िीजजए।
a) 𝟏𝟖% b) 𝟔. 𝟓𝟕%
c) 𝟏𝟐% d) 𝟗. 𝟔𝟖%
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If 𝑲 +
𝟏

𝑲
+ 𝟐 = 𝟎 and 𝑲 < 𝟎 , then

what is the value of 𝑲𝟏𝟕 +
𝟏

𝒌𝟏𝟏?

यदद 𝑲 +
𝟏

𝑲
+ 𝟐 = 𝟎 और 𝑲 < 𝟎 है,

तो 𝑲𝟏𝟕 +
𝟏

𝒌𝟏𝟏 िा मान क्या है?
a) −𝟏𝟕 b) −𝟐
c) −𝟏 d) 𝟎
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𝟖 men working 𝟗 hours a day
complete a piece of work in 𝟐𝟎
days. In how many days can
𝟕 men working for 𝟏𝟎 hours a day
complete the same piece of
work?
𝟖 परुुर् प्रनतददन 𝟗 घंटे िायष िरते
हुए एि िायष िो 𝟐𝟎 ददनों में परूा
िरते हैं। 𝟕 परुुर् एि ददन में 𝟏𝟎
घंटे िायष िरिे उसी िायष िो
कितने ददनों में परूा िर सिते हैं?
a) 𝟏𝟖

𝟑

𝟕
b) 𝟏𝟖

𝟒

𝟕

c) 𝟐𝟎
𝟑

𝟕
d) 𝟐𝟎

𝟒

𝟕
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The diagonals of a rectangle
𝑷𝑸𝑹𝑺 intersect at the point 𝑶.
If ∠𝑷𝑶𝑸 = 𝟏𝟑𝟎°, then
∠𝑶𝑹𝑺 = ?
आयत 𝑷𝑸𝑹𝑺 िे वविणष एि –
दसूरे िो त्रबदंु 𝑶 पर प्रनतच्छेददत
िरते हैं| यदद ∠𝑷𝑶𝑸 = 𝟏𝟑𝟎°,
तब ∠𝑶𝑹𝑺 = ?
a) 𝟑𝟎° b) 𝟐𝟓°
c) 𝟏𝟑𝟎° d) 𝟓𝟎°

S R

QP

O

𝟏𝟑𝟎°
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On selling an article for ₹𝟑𝟐𝟗, a
dealer lost 6%. The cost price of
the article is
₹𝟑𝟐𝟗 में एि वथतु िो बचेने पर
एि ववरेता िो 𝟔% िी हानन हुई,
तो वथतु िा रय मलू्य कितना है?
a) ₹ 𝟑𝟏𝟎. 𝟑𝟕 b) ₹ 𝟑𝟒𝟖. 𝟕𝟒
c) ₹ 𝟑𝟑𝟓 d) ₹ 𝟑𝟓𝟎
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Roshni, Rachna and Kanchan entered
into a partnership and their shares are in
the ratio 𝟏/𝟐: 𝟏/𝟑: 𝟏/𝟒. After 𝟐
months, Roshni withdraws half of his
capital and after 𝟏𝟐 months, a profit of
Rs 𝟐𝟏𝟎𝟎 is divided among them. What is
Kanchan's share?
रोशनी, रचना और िंचन ने एि साझदेारी
िी और उनिे दहथसे 𝟏/𝟐 ∶ 𝟏/𝟑 ∶ 𝟏/𝟒 िे
अनपुात में हैं। 𝟐 महीने िे बाद, रोशनी
ने अपनी आधी पूंजी ननिाल लेती है और
𝟏𝟐 महीनों िे बाद, 𝟐𝟏𝟎𝟎 रुपये िा लाभ
उनिे बीच बाटंा जाता है। िंचन िा
दहथसा क्या है ?
a) 𝑹𝒔. 𝟖𝟒𝟎 b) 𝑹𝒔. 𝟔𝟎𝟎
c) 𝑹𝒔. 𝟖𝟎𝟎 d) 𝑹𝒔. 𝟕𝟎𝟎
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What is the value of 𝒂 + 𝒃 + 𝟐𝒄 (𝒂𝟐 + 𝒃𝟐 + 𝟒𝒄𝟐 − 𝒂𝒃 − 𝟐𝒃𝒄 − 𝟐𝒄𝒂)?
𝒂 + 𝒃 + 𝟐𝒄 (𝒂𝟐 + 𝒃𝟐 + 𝟒𝒄𝟐 − 𝒂𝒃 − 𝟐𝒃𝒄 − 𝟐𝒄𝒂) िा मान कितना
होगा?
a) 𝒂𝟑 − 𝒃𝟑 − 𝒄𝟑 − 𝟔𝒂𝒃𝒄
b) 𝒂𝟑 + 𝒃𝟑 + 𝒄𝟑 − 𝟔𝒂𝒃𝒄
c) 𝒂𝟑 − 𝒃𝟑 − 𝟖𝒄𝟑 − 𝟑𝒂𝒃𝒄
d) 𝒂𝟑 + 𝒃𝟑 + 𝟖𝒄𝟑 − 𝟔𝒂𝒃𝒄
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The area of the triangle whose vertices
are 𝑷 𝟐, 𝟎 , 𝑸(𝟓, 𝟎) and 𝑹(𝟓, 𝟐) is:
उस त्रत्रभजु िा के्षत्रफल ज्ञात िरें
जजसिे शीर्ष 𝑷 𝟐, 𝟎 , 𝑸(𝟓, 𝟎) एवं
𝑹(𝟓, 𝟐) हैं|
a) 𝟐𝟓 𝑼𝒏𝒊𝒕𝟐 b) 𝟔 𝑼𝒏𝒊𝒕𝟐

c) 𝟒 𝑼𝒏𝒊𝒕𝟐 d) 𝟑 𝑼𝒏𝒊𝒕𝟐
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One – fourth of a tank holds 𝟏𝟒𝟓
liters of water. If there is 𝟏𝟖𝟎
liters of water in the tank, what
part of it is full?
किसी टंिी िे एि-चौिाई भाग में
𝟏𝟒𝟓 लीटर पानी आता है। यदद
टंिी में 𝟏𝟖𝟎 लीटर पानी हो, तो
उसिा कितना भाग भरा हुआ है?
a)

𝟐𝟗

𝟑𝟔
b)

𝟗

𝟐𝟗

c)
𝟏𝟐

𝟐𝟗
d)

𝟏𝟔

𝟑𝟗
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The diameter of a circle is
𝟑𝟓 𝒄𝒎. Find the length of the
arc of a sector, if the area of
the sector is 𝟑𝟖𝟓 𝒄𝒎𝟐

एि वतृ्त िा व्यास 𝟑𝟓 सेमी है।
एि त्रत्रज्यखंड िे चाप िी
लंबाई ज्ञात िीजजए, यदद
त्रत्रज्यखंड िा के्षत्रफल
𝟑𝟖𝟓 सेमी𝟐 है।
a) 𝟒𝟒 𝒄𝒎 b) 𝟒𝟐 𝒄𝒎
c) 𝟒𝟖 𝒄𝒎 d) 𝟒𝟎 𝒄𝒎
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Find the volume of the cylinder
whose radius is 𝟒𝟐 𝒄𝒎 and height is
𝟏𝟗 𝒄𝒎. (𝑰𝒏 𝒄𝒎𝟑 and 𝝅 = 𝟐𝟐/𝟕)
उस बेलन िा आयतन ज्ञात िीजजए
जजसिी त्रत्रज्या 𝟒𝟐 सेमी और ऊाँ चाई
𝟏𝟗 सेमी है। ( सेमी𝟑 में और 𝝅 =
𝟐𝟐/𝟕)
a) 𝟏𝟎𝟕𝟑𝟑𝟔 b) 𝟏𝟎𝟓𝟑𝟑𝟔
c) 𝟏𝟎𝟖𝟑𝟑𝟔 d) 𝟏𝟎𝟔𝟑𝟑𝟔
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The length and breadth of a rectangular field are
𝟏𝟎 m and 𝟔 m respectively. Inside the field is a
square paddy field whose side is equal to half the
length of the rectangular field. The ratio of the
area of the rectangular field to that of the paddy
field is _________.
एि आयतािार मदैान िी लंबाई और चौड़ाई
रमश: 𝟏𝟎𝒎 और 𝟔𝒎 है। मदैान िे अंदर एि
वगाषिार धान िा खेत है जजसिी भजुा आयतािार
मदैान िी लंबाई िे आधे िे बराबर है। आयतािार
मदैान और धान िे खेत िे के्षत्रफल िा अनपुात 
__________ है।
a) 𝟓 ∶ 𝟏𝟐 b) 𝟏𝟐 ∶ 𝟓
c) 𝟓 ∶ 𝟑 d) 𝟑 ∶ 𝟓
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